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53. Prove.

1 2 .
Cos X-2 Si(\z)(cos)< - 5|n2)(—r'255n*)< -_cos'LZ;g
v\/\/ V\/\/

LRS = CO$2>< <\—23|'nz)5 "‘Sinz)( (\ - Qsinq)) =
= (\-25’.0&3 (Cosmx — 5\'!\2)5

> COsS2x - coSZX =

cos?Zx = RHS



trig - final exam review February 10, 2014

(5.

f X
X = | 4230 - =
. 2610)(230 Cosﬁ3 N

Snx _ S/nt3¢ |, /230 53
<30 X o =o\N ( <

4. Cos"((05@> —‘

2/
7/p_..: - e |47
3 2 =~
| 29+~
ue—

Y



trig - final exam review February 10, 2014

S7F. Sove 9r xe[o, 2

< Co $3X = o3X

3
decosx—-cosx =)

o3 Qees'x =) = O

Cesx=0O Rcosx-1=0
4
x= 105 3m 2o X = |
2 cos K="/
cosx=t Yz




	Page 1
	Page 2
	Page 3
	Page 4

